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> mead(data)
Sepal.Length Sepal.Width Petal.Length Petal.Width Species

1 5.1 3.5 1.4 0.2 setosa

2 4.9 3.0 1.4 0.2 setosa

3 1.7 3.2 1.3 0.2 setosa > data <- subset(iris, Species == "setosa")

4 1.6 3.1 1.s 0.2 sctosa . nead (data)

5 5.0 3.6 1.4 0.2 setosa Sepal.length Sepal.Widch Petal.length Betal.Width Species

3 5.4 3.9 1.7 0.4 setosa 1 5.1 3.5 1.4 0.2 sctosa

> dim|(data) 4.9 5.0 1.4 0.2 setosa

1] 50 & 3 4.7 3.2 1.3 0.2 setosa

> sumnary (dzta) 4 4.6 3.1 1.5 9.2 sevosa
Sepal.length  Sepal.Width Petal.Length  Petal .Width species 5 5.0 3.6 1.4 0.z setosa
Min.  :4.300 Min. :2.300 Min. :1.000 Min. :0 sstosa  :50 6 5.2 s 17 0.2 setosa
15T Qu.:4.800 15T Qu.:3.200 1SC Qu.:1.400 1sC Qu. versicolor: o . dim(data)

Median :5.000 Median :3.400 Median :1.500 Median :0.200 virgimica : O (11 50 s

Mean  :5.006 Mean :3.428 Mean :1.462 Mean  :0.246 ) summary (data)

3rd (Qu.15°300, ded Quordiedh;  SediQuosl-S7b  (Axd G os0-300, Sepal.Length Sepal.Width Petal.Length Petal.Width Species
Max.  :5.800 Max. :4.400 Max. :1.900 Max.  :0.600 o >

Min.  :2.300 Min. :1.000 Min. :0.100 setosa 150
2 1st Qu.:1.400
Median :1.500

% versicolor: 0

> datagvalue <- ifelse 1.Length > med 1.Length), 1, 0) virginica : 0

> head(data)

Mean

Sepal.length Sepal.Width Petal.Length Petal.Width Species value o i1ens

1 5 3.5 1.4 0.2 setosa 1 o

2 a5 30 1ls 02 setesa 0O |

j :; j: j; E'Z zzzzz: E > datasvalue <- ifelse(dataSSepal.length > median (datasSepal.length), 1, 0)
. - - - . nead (daca)

& 2l e 14 Ul Sepal.length Sepal.Widch Petal.Length Petal.Widsh Species value

B s a5 1 0.4 sevosa 1 N o & i v Species value

> sum(data$valuc) 2 . 3.0 s 0.2 setosa 0

[L1:22 3 a7 3.2 13 0.2 secosa 0

= - . s a6 31 1 0.2 setosa 0

> nemn{astadaegal Lengen (dtadeatuc) : e i o o T

L 6 s.e 38 17 0.4 secosa 1

> sumnazy (data) L jasmsse

Sepal.length  Sepal.Width  Petal Length species vatue

oy e e sorosn w0 Min. .00 R

1st Qu.:4.800 1st Qu.:3.200 1st Qu.:1.400 versicolor: 0  1st Qu.:0.00 = =t

Siien s o0d mcdien iuni ceiariiieo S S a (1 "mmericr o

Mean  :5.006 Mean :3.428 Mean  :l.dé2 Mean  :0.44 ; mesndatasiepal Lengraldanasvaiua==il)

3rd €u.:5.200 3rd Qu.:3.675 3rd Qu.:l.575  3rd Qu.:0.300 3rd Qu.:1.00 1] 5.313630

Max. :5.800 Max. :4.400 Max. :1.900 Max. :0.600 Max.  :1.00

<- ifelse(data$Sepal.length > median(data$Sepal.length), TRUE, FALSE)
> o $value)
111

> mean (dataSSepal.Lengthldatadvalue])

[1] 5.31383¢

> summary(data)

Sepal.length  Sepal.Width Pecal.length  Pecal.Width Species
Min.  :2.300 Min. :1.000 Min. :0.100 setosa 150

1st Qu.:3.200  1st Qu.:1.400 versicolor: 0

virginica : O

Median :3.400 Median :1.500
Mean  :3.423  Mean  :1.462
3rd Qu.:3.675  3rd Qu.:1.575
Max.  14.400 Max. :1.900
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> data <- na.omit (airquality)

1st Qu.:71.00

a
0% 25% 50% 75% 100%
1 18 31 62 168

stx(q]
Named num [1:5] 1 18 31 62 168
- attr(*, "names")= chr [1:5] "O¥" "25%" "S0E" "75%" ...

5 <- ifelse $0; = q[3] | $0;

ry (data)
Ozone

: 0.000
0.000
0.000
: 5.072
.z 0.000
Max.  :30.000

[1] 14.89663
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> str(q)

Named num [1:5] 1
- attr(*, "names")

> summary (data)

[1] 34.5
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(dataStoral_bedrooms))

[1] 537.8706

n <- sd(datalStotal_bedrooms)

[1] 421.3851

> Upper <= m +n * 1.5
Upper

1] 1169.948

- datals

total_bedrooms >= Upper | datalitotal _bedrooms <= Low

FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALST FALSE FALSE
FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSI FALSE FALSE
FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE
-~ datal§toral_bedrooms[result
2477 1331 1270 1414
1435 2031 1253 1516
1390 1576 1207 1294

1603 1914 1196 1750
1374 1273 2993 2708
2074 1344 1510 2220
1284 1170 1404 1882
1359 1556 1182 1276
1336 2401 1429 1486
1492 1636 1514 1188
1369 2814 1209 1171
4183 2691 1348 1412

1344 2048
1407 1376
3493 1217
1639 1534 1691 1194 1839 1213 1603 2588
2546 1355 1611 2275 1426 1335 1717 1382
2244 2121 2190 2139 2685 1489 2141 1901
1653 1480 1286 1443 2139 1664 1872 1653
1293 1527 12683 1611 2007 1271 1477 1214
1994 1976 4487 1995 1295 1189 1706 1487

1212 1744 2408 1249 2885 1379
1818 2861 1492 1294 1823 1247
2210 1921 1578 1177 1785 1860

1522 1314 2252 1646

e O|4z|E2 Wt = 1730.48
M . AZ32|E A|2|5t total_bedrooms?| Szt

(median) =4350|C}. ZA&ZS 202 C
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[1] 1730.48

> boxplot (datalitotal bedrooms)
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